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UNIT 3 STUDENT PACKET

Homework

9. The functions fand g a.rerdlffa'enuable Given thatg( )= (=) (=3, andf"(1)=-5, find
¢@ IO GT T
10. The functions fand g are differentiable. Gwenthatg(x)=f" (x), £(2)=4, f(@)=-6, 1'(2)=
and f'(4)=11, find g'(4). 9 (lf— b - 1
) f( () 7

11. Selected values of a strictly monotonic function h(x) and its derivative h’(x) are shown on the

table below.
X =1 0 2 4
hix) | —5 -1 4 7
(x) — %) % : ] BN D
Let f(x) bea function such that flx)=hr"(x). _ - ‘
a) Find f(-1) 0) \[ —‘_—,*‘ c = - L - 2 |
b) Find f(4) /\(" (’)) /\'(0) 2 |
[ | |

1. If f(x)=x", find@Hterivative of f‘(x)atx=16 h(’\ M " A (2) T
Yox? 1 lluuey U
x=y y ' & |-
y(X =y thereare w0 buaches a‘x =5 X ol x=l6 a—;’(: aL-ﬁ&’— =
2. Suppose f(2)=7, f(1)=4, f’(2)——4 £(1)=1, determme——f 1(7).
v

el = 4= =
RN
J
3. The table below gives vZﬂues of f(x), g(x), f’(x), and g’(x) at x=3.
f(x) g(x) f(x) g'(x)
1 4 -2 5

a. Use the table to find v’(3) if v(x) = ; Ex;

v ("”é’; f)(x) (4 5 H)- (l)(s) -13
A

b. Use the table to find h’(3) if A(x) = 3xg(x)

RS 3xg604+ 3 60 S W()=35 cmaycm 1(6)4306): 57
c. Use the table to find h’(3) if h(x) = f (x)g(x) — 2x2.
pba = £609'60+ £ 1960 -4x 5 h '(3): #3)§ GBG)-H6)2 .54 £y -2 15

d. Use the table to find h’(3) if h(x) = e* f (x). Leave your answer in terms of e

W= X4 (04 896 9 K= F )4 X 0) e (Ve = -¢
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3.5 WS ans.

La.|| The chain wle is wed do fake Aerivafives of @mposite fuachions. To dale The desivadie
o a CaM{)esnlb Lunchion suchas -(3696()) with respectfo x, fud the denva e of £1c)
b glualel o () Then il hef el by /6. This aoutd o b )
£ (q(x))Q'[K)
b i h= JE@P = l:é"(f)) +77
W)= % @ ) - [0 £0)]
p (22 255 (o3 (0] = % (1) " (~e)= % () (é)-
\lg l(f) C(x q(X)) The derivifive of the tnside &s achagy
| 20=% ("37("‘) [XQ(X)-PBX’q ()]
L AR (8-9@D- £y (2)+117(2] £ Le+3]=-19
' 2 ;’ i) 4(16‘ ))= sec (x> Xck0) -
D) (x)=seck) -
o F (W) =sec<)anle)
g E Q) 9G)= x = A
932 )
| ! A) Hj () = sec (P-c+1)
K ‘(j () =sec (-2l 3 2et)  Nole: we are aah asked for hedesvadin
, e’)@'ﬂ‘(ﬂ)i %2 ‘z(y(x)) C}uiaml N 3¢ Fhewohole compesife - Mot cham mle
- Hgk=sectxa1)
£ 3 )= s head ™ etl)-[3°-7]
3 (o) F0)= 3 73 = (3 > oe3)

) q(f

0= (2 +7><+3) @x +7) = -—6%-.-
NTERNT))

toa (510 (€))

SO S

9 (k)= sec "in(t)) - o3 6)

QR = Se (4 fan(w) ——> Choinfules !

RT0=Rsec(s) - sec(Yonle) + RFan ) ~3eci) = dgo{u e +sedohnt]

it

R ()




WA emran

3 PR

| PRz x & Loxtiltl-e ¥ 3"?*];[6"*'3@ G x 4]

_ e) Q(IC)TS"tbm(s«nbd))

r ‘0<) Cojfsm(sm(x)) )- Less (in(x)) ]- as (%) _
) 4, M:d £2)= e 'Lte Czr ”6‘) —

slope. £'(x)= x¢3x3+%<e, -
P D263 e = e the’ Hoe"

T Y- Uel= ée‘(Xl)

) poit £(0) =sin(0)4 Sin(0) = O (0,0)

slope: £'(x )= cos()+ Asin (x) w5 (x)
£ (®)=c05(0)+ 25inld)cas(0)= |+ 03|

| | T:y-0= | (x-0)

5 ) X
- e NT ox*)
%{(: *=%1) ()= x(2x) < KH1=20F oK

| Gt R e s
E Dv X(H) | .
Y B (%) ] | Y = ,“2 =
G hﬁd-mx) > (¥+3ch)” )
Nis 2 (43800) 2 [3800] PO 3[443-7) ke Ty
T W)= #400) k()= 3 ()
k'(X): c '(gbd)j{()() k((]()tﬂ((p(x\) .-P'()(‘)

R (024" (§C0-9 D= £ W) -(0=-2 K R): CERRAC)
K (3)= {'(3(3)).51163): £-06EDz ) KM 9'6)-(3)= 0 (3)z-

o



1§62 Winke) 4 51 () o 2onbal fngg) weaqs § 6)=0

§ 1002 266 (<) + 2530(6) cg5 (x)

200> 2.0050) [ 1450a(k) ] =0

A03()=0 |45 (k)= D
o5 (x)=0 $in le)=~]
x=T+Tn nEZ £ =23F 4 qan, 0 €2
J méw b is 5 overgt by [k = B0, 1EZ ]

This meang~ )(*.CL _QJL .!ld.C

. a) Mot necessanly { (o) ol have boea ()= 00y (0)47 or £O)=0s(4 3

.........—J_-‘-v s o

Calse

———

b) ) NC  Fabe sin(8)> 5 simply dicales the netio of opposifedo hypotea. |

L e\ sin [0) ::2"— does 76+ mean He ?'pm( leside=2 anf /\/\‘/’pﬂ\(enuﬁc =3

U NSRRI, ' (RS RRSESEEEY

= )
C) Fan (- Cgsw

e S

se Cz{)( Cos(x) cos (K ~si0x) ("5“\ 0‘)} _ 5"()() +5indlx)

Qlul

o52(x) \ wN
7 S
S Sec (X) (052(\;) OR Sec bq "" "z‘;ﬂg ‘\"\"lﬂ’\(x)




